Faste TU underhangt A-serien
Attachment TU A-series/Befestigung TU A-serie

Art.nr 800870




Attachment TU A-series Page 2

Part.no

T
e
@

Bendmning

Description

Bezeichnung

800870

Faste TU underhdngt A-serien

Attachment

Befestigung

800869

Faste TU

Attachment

Befestigung

800433

Klamlist bred

Klemmleiste

Klemmleiste

211099

Skruv MBS M12x160 FZB

Screw

Schraube

211907

Bricka BRB M12 FZB

Washer

Scheibe

211857

Lasmutter LMBM lag M12 FZB

Lock nut

Sicherungsmutter

211065

Skruv MBS M10x45 FZB

Screw

Schraube

211856

Lasmutter LMBM lag M10 FZB

Lock nut

Sicherungsmutter

oo|~|oo| | [wo|ho|—
###w#wmA—-(—P
%

211909

Bricka BRB M10 FZB

Washer

Scheibe

Vikt / Weight: 2,3 kg

Exle

Securing cargo. We invented the concept.

ExTe Fabriks AB, SE-820 62 Farila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

B800870_DAT B




